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questions, by a panel of subject teachers. This mark scheme includes any amendments made at the
standardisation events which all associates participate in and is the scheme which was used by them in
this examination. The standardisation process ensures that the mark scheme covers the students’
responses to questions and that every associate understands and applies it in the same correct way.
As preparation for standardisation each associate analyses a number of students’ scripts. Alternative
answers not already covered by the mark scheme are discussed and legislated for. If, after the
standardisation process, associates encounter unusual answers which have not been raised they are
required to refer these to the Lead Examiner.

It must be stressed that a mark scheme is a working document, in many cases further developed and
expanded on the basis of students’ reactions to a particular paper. Assumptions about future mark
schemes on the basis of one year’'s document should be avoided; whilst the guiding principles of
assessment remain constant, details will change, depending on the content of a particular examination
paper.
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Part 1 — General marking guidance for GCSE MFL Writing Tests
Level of response marking instructions

Level of response mark schemes are broken down into levels, each of which has a descriptor. The
descriptor for the level shows the average performance for the level. There are marks in each level.

Before you apply the mark scheme to a student’s answer read through the answer and annotate it (as
instructed) to show the qualities that are being looked for. You can then apply the mark scheme.

Step 1 Determine a level

Start at the lowest level of the mark scheme and use it as a ladder to see whether the answer meets the
descriptor for that level. The descriptor for the level indicates the different qualities that might be seen in
the student’s answer for that level. If it meets the lowest level then go to the next one and decide if it
meets this level, and so on, until you have a match between the level descriptor and the answer. With
practice and familiarity you will find that for better answers you will be able to quickly skip through the
lower levels of the mark scheme.

When assigning a level you should look at the overall quality of the answer and not look to pick holes in
small and specific parts of the answer where the student has not performed quite as well as the rest. If
the answer covers different aspects of different levels of the mark scheme you should use a best fit
approach for defining the level and then use the variability of the response to help decide the mark within
the level, ie if the response is predominantly level 3 with a small amount of level 4 material it would be
placed in level 3 but be awarded a mark near the top of the level because of the level 4 content.

Step 2 Determine a mark

Once you have assigned a level you need to decide on the mark. The descriptors on how to allocate
marks can help with this. The exemplar materials used during standardisation will help. There will be an
answer in the standardising materials which will correspond with each level of the mark scheme. This
answer will have been awarded a mark by the Lead Examiner. You can compare the student’s answer
with the example to determine if it is the same standard, better or worse than the example. You can then
use this to allocate a mark for the answer based on the Lead Examiner’s mark on the example.

You may well need to go back through the answer as you apply the mark scheme to clarify points and
assure yourself that the level and the mark are appropriate.

Indicative content in the mark scheme is provided as a guide for examiners. It is not intended to be
exhaustive and you must credit other valid points. Students do not have to cover all of the points
mentioned in the Indicative content to reach the highest level of the mark scheme.

An answer which contains nothing of relevance to the question must be awarded no marks.
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Marks will be allocated in the following way at Higher Tier:

Content | Quality of | Range of | Accuracy | Conveying | Application of | Total
language | language key grammatical
messages | knowledge of
language and

structures
Question 1 10 6 16
Question 2 15 12 5 32
Question 3 6 6 12
Total 25 6 12 5 6 6 60

Higher Question 1/Foundation Question 4
10 marks for Content + 6 marks for Quality of language (16 marks in total).

Candidates write approximately 90 words in total about four different bullet points. All bullet points must
be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an

appropriate mark within a mark range.

The question is marked for Content and for Quality of language, according to the following criteria

(NOTE THAT THESE CRITERIA ARE DIFFERENT FROM FOUNDATION QUESTION 2):

Content

Marks | Response

A very good response covering all aspects of the task. Communication is clear and a lot
of information is conveyed. Opinions are expressed.

A good response covering all aspects of the task. Communication is mostly clear but
7-8 perhaps with occasional lapses. Quite a lot of information is conveyed. Opinions are
expressed.

A reasonable response covering almost all aspects of the task. Communication is

5-6 generally clear but there are likely to be lapses. Some information is conveyed. An
opinion is expressed.

A basic response covering some aspects of the task. Communication is sometimes clear
34 but there are instances where messages break down. Little information is conveyed. An
opinion is expressed.

A limited response covering some aspects of the task. Communication is often not clear
1-2 and there may be frequent instances where messages break down. Very little
information is conveyed. There may be no opinions expressed.

9-10

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant in the broadest sense must be ignored when awarding the mark for Content.
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A minimum number of bullet points must be covered for the award of marks for Content, as follows:

7-10 marks: 4 bullet points
5-6 marks: 3 bullet points
3—4 marks: 2 bullet points
1-2 marks: 1 bullet point

The information that the candidate gives must be clear. If what is written is unclear, this will have a
bearing on the mark for Content. For example, the candidate may convey information in relation to all
four bullet points, but lapses in clarity may mean that a mark lower than the 9 or 10 band is more
appropriate. The more lapses in clarity that there are, the lower the mark is likely to be. All of the
information that a candidate attempts to give in relation to a particular bullet point may be unintelligible,
in which case that bullet point will not have been covered, meaning that the maximum mark will be 6.

You must accept any information which is a plausible response to the bullet point, even if it does not
explicitly mention, for instance, a time or place. For example, if the bullet asks what the candidate did
last weekend, and he/she writes ‘| went to see my grandparents and then went to a theme park’, this can
feasibly be an account of what happened last weekend, even though ‘last weekend’ is not mentioned.
Equally, if the student is asked to say what he/she does on a typical visit to a shopping centre and they
write ‘I buy some clothes and go to see a film’, this is also an acceptable fulfiiment of the task, even
though ‘shopping centre’ is not mentioned.

The bands refer to the amount of information that is conveyed, as follows:

9-10: a lot

7-8: quite a lot
5-6: some
3—4: little

1-2: very little

All of these have to be considered with reference to the suggested number of words, which is
approximately 90. In other words, a candidate who writes approximately 90 words, clearly
understandable and relevant to all four bullet points, will be able to achieve 10 marks, provided the other
criteria are met. Conversely, a candidate may write much more than 90 words, but the language is so
inaccurate that little or very little information is conveyed successfully and the mark will be much lower.
If a candidate writes considerably fewer than 90 words, ‘a lot of information’ will not be conveyed.

The candidate must give opinions in order to have access to certain marks, as follows:

7-10: two opinions
3-6: one opinion

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 2. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (ﬂ?’&‘ﬁ’ﬂu, gfdar etc) is classed as an opinion. A neutral or

descriptive adjective is only classed as an opinion if it is preceded by something like ‘I think that’. For
example: ‘I think that my town is big’.
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Quality of language

Marks | Response

A variety of appropriate vocabulary is used. Complex structures and sentences are
attempted. There are references to three time frames, which are largely successful.
5-6 Errors are mainly minor. Some more serious errors may occur, particularly in complex
structures and sentences, but the intended meaning is nearly always clear. The style
and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt at
complex structures and sentences. There are references to at least two different time
frames, although these may not always be successful. There may be some major
errors, and more frequent minor errors, but overall the response is more accurate than
inaccurate and the intended meaning is usually clear. The style and register may not
always be appropriate.

34

The range of vocabulary may be narrow, repetitive and/or inappropriate to the needs of
the task. Sentences are mainly short and simple or may not be properly constructed.
There may be frequent major and minor errors. Little or no awareness of style and
register.

0 The language produced does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Quality of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Quality of language. A mark of 0 for Content automatically results in a mark of 0
for Quality of language but, apart from that, the Content mark does not limit the mark for Quality of
language. However, a short piece is unlikely to demonstrate sufficient variety for a high mark for Quality
of language.

Each band has five strands: variety of vocabulary; complexity of structures and sentences; reference
to time frames; accuracy of the language; style and register. Sometimes it will be necessary to adopt
a ‘best fit’ approach, because the five strands will not be consistently demonstrated. Whether it is the
top or bottom mark in the band will depend on whether the criteria are nearer to those of the band
above or below.

In order to score in the 5-6 band, there must be reference to all three time frames (past, present and
future). For the 3—4 band, there must be reference to at least two time frames. Reference to a
particular time frame may be demonstrated with one example. The verb used to refer to a particular
time frame need not be totally correct, provided the message is clear. These marks are not awarded
automatically and the other criteria in the band are equally important. Notice that references are to
time frames, not tenses. So, for example, the present tense usage in the following sentence is a
reference to a future time frame: ‘I'm going to the concert next week'’.

When considering the complexity of the language, you should bear in mind that a) this is the overlap
question and is attempted by both Foundation and Higher candidates; b) that the criteria for Quality of
language in this question are not as demanding as the language criteria for Higher Question 2.
However, for a mark of 5 or 6, complex structures and sentences are attempted. They may not
always be successful and this may lead to serious errors because of the complexity of the structure or
sentence which the candidate attempts. Complexity may be shown in some of the following ways:
different tenses; intensifiers; time markers; connectives; subordinate clauses; infinitive constructions.
This should not be seen as a ‘tick list’, but rather as an indication of the definition of complexity at
GCSE level.
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o The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

¢ There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.

Higher Question 2

15 marks for Content + 12 marks for Range of language + 5 marks for Accuracy (32 marks in total).

Candidates write approximately 150 words in total about two different bullet points. Both bullet points
must be covered, but there is no need for equal coverage of the bullets.

When deciding a particular mark, it is advisable to identify the band of marks first, and then decide
whether you are tempted by the band above or the band below. This will enable you to award an
appropriate mark within a mark range.

The question is marked for Content, for Range of language and for Accuracy, according to the following
criteria:

Content

Marks | Response

An excellent response which is fully relevant and detailed, conveying a lot of

13-15 | information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

A very good response which is almost always relevant and which conveys a lot of
10-12 | information. Communication is mostly clear but there are a few ambiguities. Opinions
are expressed and justified.

A good response which is generally relevant with quite a lot of information conveyed.
7-9 Communication is usually clear but there are some ambiguities. Opinions are
expressed and may be justified.

A reasonable response with some relevant information conveyed. Communication is
4-6 sometimes clear but there may be instances where messages break down. An
opinion is expressed.

A basic response which conveys a limited amount of relevant information.
1-3 Communication may not be clear and there are instances where messages break
down. An opinion may be expressed.

0 The content does not meet the standard required for a mark at this tier.

The candidate’s response must be relevant to the bullet points. Any information which cannot be
deemed relevant must be ignored when awarding the mark for Content. However, as the bullet points
are much more open-ended, there is scope for candidates to include information which is still relevant
but not in direct response to a bullet point. For example, when addressing a bullet point requiring a
response about a memorable holiday, candidates may refer to where they might go on a future holiday.
Any information which cannot be deemed at all relevant must be ignored when awarding the mark for
Content.
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As with the overlap question, you must accept, as an accomplishment of the task, any plausible
response to a bullet point, even if an element such as time or place are missing.

¢ In order to score a mark of 13 or more for Content, both bullet points must be covered. However,
there is no requirement for an equal coverage of both bullet points.

¢ A candidate who conveys information in relation to one bullet point only can score a maximum of 12
marks for Content.

e Provided at least some coverage of both bullet points is evident, candidates will have access to full
marks where the other criteria are met.

¢ The bands refer to the amount of information that is conveyed, as follows:

9-10: a lot

7-8: quite a lot
5-6: some
3-4: little

1-2: very little

All of these have to be considered with reference to the recommended number of words, which is
approximately 150. In other words, a candidate who writes approximately 150 words, clearly
understandable and relevant to both bullet points, will be able to achieve 15 marks provided the other
criteria are met. Conversely, a candidate may write much more than 150 words, but the language is
so inaccurate that only a limited amount of information is conveyed successfully. If a candidate writes
considerably fewer than 150 words, ‘a lot of information’ will not be conveyed.

e The candidate must give and justify opinions in order to have access to certain marks, as follows:

10-15:; at least two opinions are expressed and justified
7-9: at least two opinions are expressed
4-6: at least one opinion is expressed

This is not an automatic mark and the other criteria within a particular band must be met. If there is no
opinion, the maximum mark is 3. An opinion may be expressed simply, for example: ‘I like going
shopping’. Any positive or negative adjective (‘interesting’; ‘boring’, etc) is classed as an opinion or a
justification of an opinion. A neutral or descriptive adjective is only classed as an opinion or a
justification if it is preceded by something like ‘I think that’. For example: ‘| think that my town is big’
(opinion); or a neutral adjective can be given as a justification of an opinion: ‘I like my town because it
is big’ (opinion + justification).

¢ Once the correct band has been decided upon, the middle mark in the band will be given to a
candidate whose writing fits the band well. If the band above was a consideration, then award the
higher of the three marks; if the band below was a consideration, then award the lower of the three
marks.
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Range of language

Marks | Responses

Very good variety of appropriate vocabulary and structures. More complex sentences
10-12 | are handled with confidence, producing a fluent piece of coherent writing. The style and
register are appropriate.

Good variety of appropriate vocabulary and structures. More complex sentences are
7-9 regularly attempted and are mostly successful, producing a mainly fluent piece of
coherent writing with occasional lapses. The style and register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are
4-6 attempted, using appropriate linking words, often successfully. The style and register
may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and simple.
Little or no awareness of style and register.

The range of language produced does not meet the standard required for a mark at this
tier.

The whole of the response must be assessed when awarding the mark for Range of language, even if
some of it is irrelevant to the bullet points.

Once you have decided on the mark for Content, you should read through the response once more and
decide on the mark for Range of language and for Accuracy. A mark of O for Content automatically
results in a mark of 0 for Range of language but, apart from that, the Content mark does not limit the
Range of language mark. However, a short piece is unlikely to show sufficient variety for a high mark for
Range of language.

e Each band has five strands: variety of vocabulary; variety of structures; complexity of sentences;
fluency of the writing; style and register. For a mark of 12, there will be good evidence that the criteria
for all five strands have been met comfortably. Sometimes it will be necessary to adopt a ‘best fit’
approach, because the five strands will not be consistently demonstrated. Once the correct band has
been decided upon, the middle mark in the band will be given to a candidate whose writing fits the
band well. If the band above was a consideration, then award the higher of the three marks; if the
band below was a consideration, then award the lower of the three marks.

e There must be more complex sentences for the candidate to score 7 marks or more. For a mark in the
10-12 band, the complex sentences are produced confidently, with few errors in structure; for a mark
in the 7-9 band, the attempts at complex sentences are mostly successful. Complex sentences may
be formed in some of the following ways across the languages: use of subordinate clauses; use of
relative clauses; use of infinitive constructions; the use of object pronouns within a sentence to lend
greater fluency. This should not be seen as a ‘tick list’, but rather as an indication of the definition of
complexity at GCSE level.

¢ The setting and bullet points are likely to mean that the style and register of the writing will be
appropriate. If informal address is used when the task is in a formal setting, or vice versa, there is no
need to penalise the candidate merely for that. It may, however, be a contributory factor in the award
of the overall mark if there are other weaknesses.

¢ There is no requirement for candidates to present their piece of writing in a particular way because of
the context, eg a blog or email does not need to look like a blog or email. It is the content which is to
be marked.
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Accuracy
Marks | Response

5 Accurate, although there may be a few errors especially in attempts at more complex
structures. Verbs and tense formations are secure.

4 Generally accurate. Some minor errors. Occasional major errors, usually in attempts at
more complex structures. Verbs and tense formations are nearly always correct.

3 Reasonably accurate. There are likely to be minor errors and there may be some major
errors, not only in complex structures. Verb and tense formations are usually correct.

2 More accurate than inaccurate. The intended meaning is generally clear. Verb and
tense formations are sometimes correct.

1 There may be major errors and frequent minor ones, and the intended meaning is not
always clear. There is only limited success with verb and tense formations.

0 The accuracy does not meet the standard required for a mark at this tier.

The whole of the response must be assessed when awarding the mark for Accuracy, even if some of it is
irrelevant to the bullet points.

A mark of 0 for Content automatically results in a mark of 0 for Accuracy but, apart from that, the Content
mark does not limit the Accuracy mark. However, a short piece is unlikely to show sufficient evidence for
a very high mark for Accuracy.

o For the award of 5 marks, the writing need not be perfectly accurate. There may be errors in attempts
at more complex language and the occasional minor error, but these will be infrequent. A minor error
is one which has no bearing on communication (for example, incorrect gender), whereas a major error
is one where communication is affected.

e For a piece of writing that contains a good number of errors, a useful starting point will be to decide
whether overall it is more accurate than inaccurate. If it is, then the minimum mark will be 2.

o A major consideration in awarding marks for accuracy is correctly formed verbs and tense formations.
All verbs and tense formations should be considered here but as there are only two bullet points in this
question, only two time frames will be elicited. While some candidates will develop their ideas and, in
so doing, use a third time frame and different tenses, there is not the same requirement as there is in
Foundation Question 4/Higher Question 1 to refer to all three time frames.

Higher Question 3

6 marks for Conveying key messages + 6 marks for Application of grammatical knowledge of language
and structures (12 marks in total).

Candidates translate into the target language a passage in English, totalling at least 50 words. The
translation is marked for Conveying key messages and for Application of grammatical knowledge of
language and structures, according to the following criteria:

10
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Conveying key messages

Marks | Response

6 All key messages are conveyed.

5 Nearly all key messages are conveyed.
4 Most key messages are conveyed.

3 Some key messages are conveyed.

2 Few key messages are conveyed.

1 Very few key messages are conveyed.

The content does not meet the standard

0 required for level 1 at this tier.

The translation is divided into 13 key messages. A tick will be awarded for each key message that is
communicated, despite any minor inaccuracies. The total number of ticks awarded equates to a mark
according to this table:

Total ticks Mark

13 6
11/12 5
8/9/10 4
5/6/7 3
3/4 2

1/2 1

0 0

When deciding on whether a key message is conveyed, you should ask yourself the question: ‘Would a
native speaker understand the target language version without reference to the original English?’ If the
answer is ‘yes’, award a tick.

Application of grammatical knowledge of language and structures

Marks | Response

6 Excellent knowledge of vocabulary and structures; virtually faultless.

5 Very good knowledge of vocabulary and structures; highly accurate.

4 Good knowledge of vocabulary and structures; generally accurate.

3 Reasonable knowledge of vocabulary and structures; more accurate than inaccurate.
2 Limited knowledge of vocabulary and structures; generally inaccurate.

1 Very limited knowledge of vocabulary and structures; highly inaccurate.

0 The language produced does not meet the standard required for Level 1 at this tier.

11
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Once you have decided on the mark for Conveying key messages, you should read through the
translation once more and decide on the mark for Application of grammatical knowledge of language and
structures.

This mark is not limited by the Conveying key messages mark, unless the mark for Conveying key
messages is 0, in which case the mark for Application of grammatical knowledge of language and
structures must also be 0.

There is no direct correlation between the two marks, but your first thought should be to see if the
same mark is appropriate. For example, a candidate may have been given 5 ticks and you have
awarded a mark of 3 for Conveying key messages. You may have had to hesitate when deciding on
one of the ticks but just decided against it. This may then encourage you to give a mark of 2, rather
than 3, for Application of grammatical knowledge of language and structures.

If a candidate leaves gaps, you must assume that any attempt would have been highly inaccurate and
award a mark accordingly. Not to do so will penalise unfairly those candidates who make an attempt
but commit serious errors in so doing.

Perfection is not required for full marks. For example, occasional missing accents and minor spelling
errors do not preclude a top band mark. However, if there are numerous minor errors and incorrect
use of accents which change the meaning of a word, this is likely to have an impact on the mark for
Application of grammatical knowledge of language and structures.

12
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Appendix 1

Notes on the use of language

The following notes are a guide to the kind of language that may help to fulfil the criteria for higher bands
of marks in the Quality of language and Range of language categories. They should not be seen as a
checklist.

Variety of vocabulary

Consider particularly:

e use of synonyms, N" UHE Jde/Idel,9dT ZIE/ZJret
« different persons of the verb I3T (m)/a3e! (f)

¢ use of more sophisticated vocabulary — though the emphasis is on avoiding a lot of conspicuous
repetition.

Variety of structures
Consider, for example:

¢ use of infinitive constructions introduced by prepositions (?;'S,EECT,?, @% féﬂ,ﬁ'@)

« use of object pronouns (83,8% &7, @&t e, Gt €h)

¢ use of disjunctive pronouns (@H@W/@?@Wetc)

¢ use of indefinite pronouns/adjectives such as §E°r,§P3, ae‘t HS, Fl"%, 8@?{ U2 etc

e use of connectives such as 1%(@‘%( A, Wl?s’, fea

e use of adverbs and adverbial phrases such as Ud, feA aadl, gd UTH, I< de Jt, fer sel/em3, GA TS
o use of negatives (€1 &JT", I &JT, ST, &7 31 &F, TS &IT, i 31 ete)

e use of comparative expressions (EH I, YT, IaTT, W2 TaTT, §I3 I, TUDHT)

« use of demonstrative adjectives and pronouns (&3, feg ot etc)

¢ use of possessive pronouns (ﬂ?ﬁ, ﬂ?l'fetc)
¢ use of superlative adjective (Ea%, Jd etc)
¢ use of complex sentences and a range of tenses (J&, ﬁ, A, A, Aretdl /Elﬂ).

Use of complex/longer sentences
Consider:

e use of subordinate clauses introduced by <", foE, fag fa, 72" 3" etc

o use of relative clauses introduced by d<, 1%0:{§ etc

¢ use of the present subjunctive after verbs of wishing, command, request, emotion and after 3t to
express purpose and, when considering use of longer sentences: QE@U?’SU‘S

e use of co-ordinating conjunctions: f&H &, 7, U3, feq, Bt |

13
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Use of time frames/tenses

¢ The criteria for Quality of language in Foundation Question 4/Higher Question 1 include ‘references to
two/three time frames’. If a candidate refers to three time frames, it may well be through different
tenses, but equally it could be through the present tense:

W HdTS 20 fed @1a femH Sye AfEt It Ug o maTs M3ed & STed Sy AT 3dt If | 1 IS It wa eum niret
J7
e The criteria for Accuracy in Higher Question 2 refer to ‘tense formations’. In this question, a candidate

can impress by showing that he/she can use a good range of tenses, thereby adding to the range and
complexity of language.

14
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Appendix 2

A glossary of terms used in the Writing assessment criteria

NB This alphabetical list corresponds to all questions on both Foundation and Higher papers.

A problem with immediate communication caused by grammatical

ambiguity inaccuracy or a contradiction (eg ‘I love it because it’s boring’).
appropriate Language which is suitable for the requirements of the task.
coherent Language which is easy to follow with a logical sequencing of ideas.

See ‘fluent’.

complex sentences

Sentences which contain a subordinate clause or clauses.
See Appendix 1 for examples.

complex structures

See Appendix 1 for examples.

confidence

Accurate use of language.

delay in communication

A problem with immediate communication caused by grammatical or
lexical inaccuracy.

fluent

Language which is easy to follow with a logical sequencing of ideas.
See ‘coherent’.

grammatical structures

Structures which are listed in the specification.

justified

The reason for holding a stated opinion.

key messages

With reference to the translation questions on both papers, these are
the key messages as identified in the mark scheme.

lapses

A problem with communication caused by grammatical inaccuracy

linking words

Words such as 1%(@7%( LIH,WI@, used to create longer sentences.

longer sentences

These may be complex, with more difficult subordinations, or more
simple through the use of linking words such as %l'@‘%(, ’1—@, yd |

major errors

Errors which impair communication.

minor errors

Errors which do not have a bearing on communication.

A positive/negative verb or adjective used to give an opinion; or a

opinions neutral adjective, such as ‘big’, preceded by something like ‘I think
that’. For example, ‘I think that my bedroom is very small’.

secure Accurate.

structures See ‘grammatical structures’.

style and register

The style of writing. Usually this will be determined by the nature of
the task, requiring informal or formal register.

The use of tenses, with or without time markers, which refer to past,
present or future events. A present tense may be a future or past time

time frames frame, eg MJTS JS3 W e eys e d (future time frame); U3
U ATt 30 UATst iy fagm It | (past time frame).
. Use of different verbs, nouns and adjectives which avoid a lot of
variety

conspicuous repetition.

15



MARK SCHEME — GCSE PANJABI - 8683/WH — JUNE 2022

Part 2 — Marking guidance for June 2022 series

Question 01

For this question, there are four compulsory bullet points which are assessed for Content (10 marks)
and Quality of language (6 marks), as specified in the criteria below. The maximum mark is 16. The
student is expected to produce approximately 90 words for this task. The number of words is
approximate and you must mark all work produced by the student.

[16 marks]
Content
Level | Marks | Response

5 9-10 | A very good response covering all aspects of the task. Communication is clear
and a lot of information is conveyed. Opinions are expressed.

4 7-8 | A good response covering all aspects of the task. Communication is mostly
clear but perhaps with occasional lapses. Quite a lot of information is
conveyed. Opinions are expressed.

3 5-6 | A reasonable response covering almost all aspects of the task.

Communication is generally clear but there are likely to be lapses. Some
information is conveyed. An opinion is expressed.

2 3—4 | A basic response covering some aspects of the task. Communication is
sometimes clear but there are instances where messages break down. Little
information is conveyed. An opinion is expressed.

1 1-2 | Alimited response covering some aspects of the task. Communication is often
not clear and there may be frequent instances where messages break down.
Very little information is conveyed. There may be no opinions expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the four compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will have access to full marks where the
other criteria are met.
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Quality of language

Level

Marks

Response

3

5-6

A variety of appropriate vocabulary is used. Complex structures and sentences
are attempted. There are references to three time frames, which are largely
successful. Errors are mainly minor. Some more serious errors may occur,
particularly in complex structures and sentences, but the intended meaning is
nearly always clear. The style and register are appropriate.

Some variety of appropriate vocabulary is used. There may be some attempt
at complex structures and sentences. There are references to at least two
different time frames, although these may not always be successful. There
may be some major errors, and more frequent minor errors, but overall the
response is more accurate than inaccurate and the intended meaning is usually
clear. The style and register may not always be appropriate.

The range of vocabulary may be narrow, repetitive and/or inappropriate to the
needs of the task. Sentences are mainly short and simple or may not be
properly constructed. There may be frequent major and minor errors. Little or
no awareness of style and register.

The language produced does not meet the standard required for Level 1 at this
tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Quality of language.
Apart from that, the Content mark does not limit the mark for Quality of language.

General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).
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Question 01.1 Content

Bullet Comments

Accept information about the film in the past time
frame eg

fUgs M3ea § W fea Uit femn et | WG famm
t qaret daft saft fa@fa feguare My e ot e
Jfge-AfdE I HY |

oyt It femH &t Jaat g9

Accept information about songs eg

ferfesH e e I3 T S AR A U B are
39T -2UT T8 S HG | Hd HEUHE arfeg € are
I3 femH feoAs |

femyeafts

Accept positive/negative opinions eg

WaT fegma I fa it Vet femnt 3 mmust 831 3
femH ey 979 3773 fegg fegn g3 fiye gf W3 &2 2HS 974 21 U3T &1t
JI

Accept suggestions in the future tense eg

- o R ot mifT w3 for @ I g9 2ubi fesut
giey feg Tt feBH STHTITHI™ | 51831 3t Emerat § Teardt fdaft | Gu a3

7 3 &I Al |
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Question 01.2 Content

Bullet

Comments

o< femd fSg Ags 3t

Accept information about facilities in the area eg

N 33-ATEl3 € HAgT feaa &9 afdetafdar gt |
&g © et Ags, Utdd m3 fod st TRU3S J |

YTHT UC I36 JET o3 I ofH

Accept information in the past tense eg

A3 fema i A=l @ WS @ 2dy3 Bare
JE I& 3 JITHeS BT Y JU IR TS|

n = . a)
fEBTd & BT 979 od's Ied'd

Accept positive/negative opinions eg

&8 A8 uoHt € &< fHs-g% 3 Ifde Is | fea gd
o ey-my feg Aoz ade Is | i fea 9is ude
JI

giey 89 fer fesd iTg Ifge 59

Accept suggestion/s in the future tense eg

W gfey feg Im € fea miavEt feoa feg gatafl
IITI M3 HH ST I8 HId § oY o JATIran
Jraratar faQfa HE Jrav er g afger dar
arer 9, feg &t
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Question 01.3 Content

Bullet Comments
Accept information about any issues/problems to

find/get a part-time job eg

i ; HE USS IS gamst w3 Adgt feu a4t 8 St
ﬁJE@FlT&S ﬂW?ﬁH?ﬂG’T@EEﬁ FE HAIST et 7S fa8 e B earat W3 Adt
e HHETE o9 We m3 nisaTdls fmimer ydteedt Jae A |
THUfE A |

Accept information about a part-time job eg
3T HSUFE Utge-2rety Sadt feg I Iaa I A fa 1 25t I I wiuSt U3 &t
29" 4 | fer fTg VR 9al g AfE I5 |

Accept positive/negative opinions eg

) ) HaT fegrg I fa gt g urge e o I
BT ST UTS-TRH M ITS T3S | grefre 3 for'f ot o7 U wi o 7 I
fogrg HE A |

Accept suggestion/s in future tense eg

W Jaiah g 3fey f&g Sadt 8< Bt gt I 3

o e Ufgst et 3 eae! feg nigdl 3 | AIgS/aTsd & <
I . n 0 0 0

SISH ST SAdI SIS HTd HI™ fefenragint et Sadt HEUt 3nde €7 YU Jd&

e |
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either 0Q1u:stion This is a possible response (indicative content):
fgs W3eg § W fea et femn et | WS fezn €t garet daft Saft
faQ*fa feg yare AN e Bat 2 gfge-Afges ga Ht |
for femH e € I TZ AR AS UJ € IS SIS -cUT & S AS | Hd
H&UHE grfed € 9re 33 <t foxm feg Fs |
HaT fegmg J fa it Ut fe@nt 3" vyt 958t 3 fegi 979 fue 9f i3
5 SHG ¥Td S USTHIETJ |
2 o &t i w3 for @ T 913 adr feoHt 91041 31 st §
ArEddt H&att | 89 &3 970 3 sJt ATEal |
[16 marks]
or Question | This is a possible response (indicative content):

01.2

W S3-AEts © femra feg afdelafder It | f58 © e Ags, urgd M3
e st T3S J |

A3 fewrd {89 AgEt € M8 T8 TIY3 BITE I8 I& 3 g3 Hed BEl
39 9 IR TS|

&8 A8 UoHt © ¥ Hs-g9% 3 3fde I5 | fed TH & gu-mu feg Agfes
JIe IS | W fegas ure J |

V gfey feg I e foq AisHe! fewra f&g gaiaft/agiar W2 HH 392 I8
HOW & O & Taaa/qaraian (g6 1 Hg arav X 29 Ifaer dar Sarer
ficienid

[16 marks]
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or

Question
01.3

This is a possible response (indicative content):

NS fUEd IS gatat M3 Aegt T8 3adt B BEt It HHaS et faGfar
&I IS M3 ASTT feg We M3 MEHTEls fmmeT ydteedt 3de AS| aH
W2 A |

NS I A vyt U3 €t eas Bttt | e feg YR Sl s Ae I5 |

Ha' fegrg J fa gt f&g urge-emeid oM J9o grdter J fae s for o=
UR W3 IH 7 37dgT de fHEe Ja|

Ml I | AgS/ASA § S fefenradint et Sadt Hedt 3mad =7 ysy
JI&T ITdtET J|

[16 marks]

However, there may be some imbalance in the coverage of the compulsory bullet points but, provided at
least some coverage of all bullet points is evident, students will still have access to full marks where the
other criteria are met.
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Question 02

For this question there are two compulsory bullet points, which are assessed for Content (15 marks),
Range of language (12 marks) and Accuracy (5 marks), as specified in the criteria below. The
maximum mark is 32. The student is expected to produce approximately 150 words over the whole
question. The number of words is approximate and you must mark all work produced by the student.

[32 marks]
Content
Level | Marks | Response
5 13-15 | An excellent response which is fully relevant and detailed, conveying a lot of

information. Communication is clear with little or no ambiguity. Opinions are
expressed and justified.

4 10-12 | A very good response which is almost always relevant and which conveys a lot
of information. Communication is mostly clear but there are a few ambiguities.
Opinions are expressed and justified.

3 7-9 | A good response which is generally relevant with quite a lot of information
conveyed. Communication is usually clear but there are some ambiguities.
Opinions are expressed and may be justified.

2 4-6 | A reasonable response with some relevant information conveyed.
Communication is sometimes clear but there may be instances where
messages break down. An opinion is expressed.

1 1-3 | A basic response which conveys a limited amount of relevant information.
Communication may not be clear and there are instances where messages
break down. An opinion may be expressed.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

There may be some imbalance in the coverage of the two compulsory bullet points but, provided at
least some coverage of both bullet points is evident, students will have access to full marks where the
other criteria are met.
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Range of language

Level

Marks

Response

4

10-12

Very good variety of appropriate vocabulary and structures. More complex
sentences are handled with confidence, producing a fluent piece of coherent
writing. The style and register are appropriate.

7-9

Good variety of appropriate vocabulary and structures. More complex
sentences are regularly attempted and are mostly successful, producing a
mainly fluent piece of coherent writing with occasional lapses. The style and
register are appropriate.

Some variety of appropriate vocabulary and structures. Longer sentences are
attempted, using appropriate linking words, often successfully. The style and
register may not always be appropriate.

Little variety of appropriate vocabulary. Structures are likely to be short and
simple. Little or no awareness of style and register.

The range of language produced does not meet the standard required for Level
1 at this tier.

Notes

A mark of zero for Content automatically results in a mark of zero for Range of language. Apart from
that, the Content mark does not limit the mark for Range of language.

Accuracy
Level | Marks | Response

5 5 Accurate, although there may be a few errors especially in attempts at more
complex structures. Verbs and tense formations are secure.

4 4 Generally accurate. Some minor errors. Occasional major errors, usually in
attempts at more complex structures. Verbs and tense formations are nearly
always correct.

3 3 Reasonably accurate. There are likely to be minor errors and there may be
some maijor errors, not only in complex structures. Verb and tense formations
are usually correct.

2 2 More accurate than inaccurate. The intended meaning is generally clear. Verb
and tense formations are sometimes correct.

1 1 There may be major errors and frequent minor ones, and the intended meaning
is not always clear. There is only limited success with verb and tense
formations.

0 0 The content does not meet the standard required for Level 1 at this tier.

Notes

(a) A major error is one which seriously affects communication.

(b) A mark of zero for Content automatically results in a mark of zero for Accuracy. Apart from
that, the Content mark does not limit the mark for Accuracy.
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General rule for this question:

¢ the use of an infinitive in place of a finite verb is acceptable for conveying a message. It would not,
however, count as a reference to a present/past/future event (ie no annotation of Pr/P/F).

Question 02.1 Content

Bullet Comments
Accept details in present tense eg
ST HAUAE 13997 et o Houre f38 o9 I g &

HITEE W3 Uy 9o18 T w1 Ha fHseT J | Tlerst
& W ufgeTa &5 JreemTd AierATE! It | Wa TR
TS WHT UTal 9&15 2 I | fimeT uetd &dt
TBEe gdte fagfa ygre sueT J | 1 ferfes
Hfemmet yrdt ure 3 | it fam3erat &t fifar
SHC I | IOl BA BB 3 TH SIS I& | Ferar
St IHFTMAI T T |

Accept answer in future tense eg

gfey feg 38T He B St a3 O s 2w Shgnrt 5 9fy g A
fgergt w3 fef3gm g9 Areardt Haat w3 8
3809t € HU3T § AHTEdI, 51 3T IS ATl |
293¢ fued | fern &% A3 & Yt At 39
TTHAT HS AT | SATTE MU fTgH W3 UdH 373
73 Ifgear | ffar® '3 fE9 It uaHt & &4 died!
JHUH &8 H&TE € 6 A &% et &t Hd33
Ja St Ty At I
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Question 02.2 Content

Bullet Comments
N Accept information in present/past tense eg
Sfact st

H& 9fadt BEt M JaaT gg3 dar sarer d | Uug®
A W03 NI ©A3T 3 WUE W™ dd M3 ARH g7
d HIS fenite A | fed efidd e U AN SUAS |
feard I8 UR A3 AgS & Unmd feg ardte dfont
Uzl g S a3 As |

JT AT JIaeeTdr S et 9fgdht o o faar J
MIN JIMITT A d Bt €t Hee Fgerat |
WHT FE 279 TWI B B I TS I I |
fer 5% Ha § At et I M3 N Tu3 33
fiue &t iz J fae fa g 3 H agaT »ifa |

Accept answer in future tense eg

fer s Nt & YAt Ifgt 5% ofH 34Tt |
for % S I WAt IAT © Hdla BE w3
ggddlt B YT U 9ta | B ufost ae fen
famH &7 o1 ot 3T | N9 et fea fea ot
3AJYT JdT |

giey 89 vfact & 1t &t Ha33T

HaT fopms 3 AT 9fadt € ofH iga e Ifaa
grdter J for @ vife @t it @ 99 ofadt
7% 13 3faedl | 831 § AR dds S HI33T I
USTSIIET | ATS mil & Fer 439 feg aret ofH 99
S EIJ 1N AT o I fa T v vy Ag
Yad fE9" 99 UR Uam AT 9fadt oet aga
SHIIT |

26



MARK SCHEME — GCSE PANJABI - 8683/WH — JUNE 2022

Question 02.3 Content

Bullet Comments
Accept details in present/past tense eg
HIS/A&H € frfedit

W It g feg famrmat Ht R €t ag 9t/ faar It |
HIT AT&ETd 31T e fer et i g Au3 Hass
Jau/aaet It fagfd fUe® AT N 9193 2dT &t
M AS | N EA3/AJS M 575 Ags feg fage
usTAEel It | it fia @ Ui fear 2y st
B3& W Ud I | oA J9d HE AgS /asd et frfeaf gaf
BITET J | WIS AHETT & A8 md3H 7% HY JeaT |
AgS fe9 AT 30 29t UGt Ueht I w3 mirt Hefes
S5 &' TI3 Aae NS fog 918 e &dt' i Saer fa

N galeafic A igS & &dt gBfam/gsiatt |

ey feu galeahdt &t uget 89

Accept details in future tense eg

A R € 2 ugrel u3H 994 {35 € 3% 938 I3
N gateafidt (€9 Arer € fsardt agtamagtaft | »Win
feent {9 &t e Atel J1 fer €t A agfam/aaiaf
galeghdt & ugTet HU3=YIs J |
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The following indicative content is an example of the response that students may give to this question.
It demonstrates a balanced coverage of the compulsory bullet points.

Either

Question
02.1

This is a possible response (indicative content):

el Ha HeuHe f36909 J a8 fa g ik marGe m3 ued 9@ B &
Ha fi@eT J | Siest & N ufgeTa a7 graend Aievdte! If | wg Tur
T WHT Y21 983 e I | fmmeT yord ot 918 grdte fafa
YgH<S 2ueT J | i fer fow Hieommst urat ure J | it fam3erat set
o 3e I | aEt 8o Test 3 3R 293¢ I | fer v Sfentt 3zt niAg
Uerdl

3899 He'Ge © o5 dfomt § ey feg i3t faemt w3 fefzam a9
Acardt HBaft w3 €0 f38Tmat € Hd3e M Edl od 3t g Arad! | Hag
3899 Hateidl 3t 3 fed-Td &% Hee 93¢ Jfdedl | TR B g §
YHMT AT J98 & HaT THETT | 776 MTUE fEgH W3 UaH 318 13
Jfaedl | 37 feu aet uaHt € & Tlest gHUH &% &8 I8 A
&% desl S I3 da St eu Al J |

[32 marks]
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Either

Question
02.2

This is a possible response (indicative content):

N 9fat S M & SIS Far Zaer J | IS IS M3 HI eR3t S
WUE W dd M3 AHH 827 d AS f@nie A | feg efugg 2 uie AN 29
AS | fEad I8 UR A3 AgS & UHATe 89 a1dte gfentt €t ugrel &€t 9a fe3
HE |

IS AT3T JIdeeTa’ & et Jfgei SE aH fggr I w3 ' ggM3ea g aal
ot €l Hee JaeT It | wH IEt 279 Su/d B BEl Bad geTd SHE I |
fer 3% Ha SRS gt I3 HE T3 9% fHue § &t e fae fa
HS o 1 g »ife |

for Ar® Hdt I8 ysHT 9fgdt o7& 1 F94ft | foR o1& fH® 3 wiHT A
o HdtaT w3 ggddr JEtyTE U9 J97d1 | B Ufgst g for far e
oH &t 137 | 9 Bt feg ffq &<t IaggT dedr |

Ha™ fiprms 3 AT 9fadt € ofH ga e Ifgar grdter d fer s miBe

T IS € 99 9f9<t 578 93 Ifgedl | B3 S AR 36 €T HI33T 8 U3t

ST | AS min S fer u3g Ko It M aes €1 83 J I W Ag fomm I fa

I3 HITS B TS A9 ya9 fed” a9 UR Unme ysAT 9fact 3t 7ga Satar |
[32 marks]
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or

Question
02.3

This is a possible response (indicative content):

W ITet Ag® &9 famrat ft Mt WA €t 99 9t/ faar IF | HaT ireeTa a3t
e e &t B g my3 fHas3 JdeT /adet ot fa fa fUg® g Na 193
U S MR AS |

W SA3/AJS M &7 Ags fe9 fage aseraset 9t | it feq @g Yt
feBH TuT et B35 7 Yd It | for J9d HE AgS/asH € ffaaft gaft
ST J | MITS AHETT & A3 MasH 7% HY J<4T | Ag® [T ATS o
et gt Uet I w3 wirft Hefes €& ot 293 Aae 1 feg I8 ure
&I | W Bare i B galeafict A7 d ig® § &t Iafam/gsiat |

A+t R € S ugTE u3H 99d fF5 B 3e% 993 I5 | i gatediet
fqra 3 fou It ot ua feemt feu <t fus wiet 31 fom &t v safan/
JJ1al galeahdt &t uget HU3YTs J |

[32 marks]
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Question 03

The translation is assessed for Conveying key messages (6 marks) and Application of grammatical
knowledge of language and structures (6 marks) as specified in the criteria below. The maximum
mark is 12. When awarding the marks, the student’s response across the passage should be
considered as a whole.

[12 marks]
Conveying key messages
Level | Marks | Response
6 6 All key messages are conveyed.
5 5 Nearly all key messages are conveyed.
4 4 Most key messages are conveyed.
3 3 Some key messages are conveyed.
2 2 Few key messages are conveyed.
1 1 Very few key messages are conveyed.
0 0 The content does not meet the standard required for Level 1 at this tier.
Application of grammatical knowledge of language and structures
Level | Marks | Response
6 6 Excellent knowledge of vocabulary and structures; virtually faultless.
5 5 Very good knowledge of vocabulary and structures; highly accurate.
4 4 Good knowledge of vocabulary and structures; generally accurate.
3 3 Reasonable knowledge of vocabulary and structures; more accurate than
inaccurate.
2 2 Limited knowledge of vocabulary and structures; generally inaccurate.
1 1 Very limited knowledge of vocabulary and structures; highly inaccurate.
0 0 The language produced does not meet the standard required for Level 1 at this
tier.
Notes

A mark of zero for Conveying key messages automatically results in a mark of zero for Application of
grammatical knowledge of language and structures, but apart from that, the Conveying key messages
mark does not limit the mark for Application of grammatical knowledge of language and structures.
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Key messages

The translation is divided into 13 key messages (see below). As a general rule, the wrong person or
wrong tense of a verb will not receive a tick. Minor inaccuracies, such as incorrect gender or adjectival
agreement, will not on their own prevent the award of a tick.

1 mark 0 marks
1 | Last Sunday, fUgs »3eg ?5 fUsd
2 | | wrote my essay and H T Y (&hmi w3 Myt
5 | ron st evennguin | ZZIIEIEENEE et o
4 | in the village ﬁf‘a’%‘w’wﬁ | JraTat
5 | We ate our dinner WHT IZ ey YT | UATs
6 | at my uncle's house. ITYT HI/HHT 2 W J3
7 | | left my mobile phone H T HEes €5 HeTfes
8 | athome w3 It &3 fam aret ujg
9 apd did not speak to any 3 BRI 735 313 Bt oA

friends. Il

10 | In the next holiday, ISt gt &8 gemt
11 | | would like to go for a walk H 395 eI AT d 3d4
12 | as | 1“6(@7%(? ﬁ'
13 | want to stay fit. EERLEEKIRRUSINEVE IR Jf

Other reasonable alternative translations will also be accepted.

A tick will be awarded for each key message that is communicated, despite any minor inaccuracies. The
total number of ticks awarded equates to a mark according to this table.

Total ticks Mark

13 6
11/12 5
8/9/10 4
5/6/7 3
3/4 2

1/2 1

0 0
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